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TNPSC GROUP I test batch – 2020 
TEST XIII – CURRENT AFFAIRS (November 2020) AND APTITUDE 

AND MENAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
C A A D A A C C B C 

11 12 13 14 15 16 17 18 19 20 
B D D A C B B A B C 

21 22 23 24 25 26 27 28 29 30 
D B A A D B B B B D 

31 32 33 34 35 36 37 38 39 40 
C A B A A C C B D B 

41 42 43 44 45 46 47 48 49 50 
B A B A D B B B C B 

51 52 53 54 55 56 57 58 59 60 
C C B B D A B C A C 

61 62 63 64 65 66 67 68 69 70 
C B C B C B D B B B 

71 72 73 74 75 76 77 78 79 80 
D D C B C C C D B C 

81 82 83 84 85 86 87 88 89 90 
C C C A A C B C A D 

91 92 93 94 95 96 97 98 99 100 

B D D A A D D B D A 
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61. 'In a certain code language 'BEAR" is coded as 18152 and "CREAM" is coded 
1315183 then how will "DRINK" be coded as in the same language?  
a. 1149184  b. 41891411  c. 11149184  d. 114198114  
xU ,ufrpa FwPapl;L Kiwapy; "BEAR" vd;gJ 18152 vdTk; kw;Wk; 
"CREAM" vd;gJ 1315183 vdTk; Fwpf;fg;gl;lhy; "DRINK" vd;gJ vt;thW 
Fwpf;fg;gLk;?  
a. 1149184  b. 41891411  c. 11149184  d. 114198114  
          
Solution:  
A to Z – 1 to 26 codes 
 B E A R  
 ↓  ↓  ↓  ↓ 
 2 5  1  18   = 18 1 5 2 (Reverse order)   
 
 C R E A M  
 ↓  ↓  ↓  ↓  ↓  
 3 18 5  1  13  = 13 1 5 18 3 (reverse code)  
           
 D  R I N K 
 ↓   ↓  ↓  ↓  ↓  
 4 18 9  14 11  = 11 14 9 18 4 
So code DRINK is 11149184 
 

62. In the following question, select the related numbers  
8437 : 103 : 6241 : ?  
a. 34   b. 49   c. 58  d. 42 
gpd;tUk; Nfs;tpf;F njhlh;Gila vz;iz Njh;e;njL.  
8437 : 103 : 6241 : ?  
a. 34   b. 49   c. 58  d. 42 
 
Solution:  
 8 × 4 × 3 + 7 = 96 + 7 = 103 
 6 × 2 × 4 + 1 = 48 + 1 = 49  
 

63. Find the missing term from the following series ABB, BCF, CDL _______. 
a. DEP  b. DEO  c. DET  d. DFY  
tpLgl;l cWg;ig fhz;f. ABB, BCF, CDL _______. 
a. DEP  b. DEO  c. DET  d. DFY  
 
Solution:  
 A B B,  B C F,  C D L,  D E T  
 1  2  2  2 3 6    3  4 12 4  5  20 
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next  1 ×2 = 2  2 × 3 = 6 3 × 4 = 12  4 × 5 = 20 
 

64. What should come in place of the question mark in the following number 
series? 15, 40, ? 170, 291, 460  
a. 76   b. 89  c. 85  d. 94  
gpd;tUk; vz; njhlhpy; Nfs;tpFwp cs;s ,lj;jpy; vd;d tUk;?  
15, 40, ? 170, 291, 460  
a. 76   b. 89  c. 85  d. 94  
 
solution:  
 15 + 52 = 40 
 40 + 72 = 89  
 89 + 92 = 170 
 170 + 112 = 291  
 291 + 132 = 460  
 

65. A letter series is given below in which some letters are missing. select the 
option that gives the letters that can fill these blanks in that order.  
xU vOj;J njhlh; MdJ fPNo nfhLf;fg;gl;Ls;sJ. rpy vOj;Jf;fs; mjpy; 
tpLgl;Ls;sd. tpLgl;l vOj;Jfis thpirg;gb Nfhbl;l ,lq;fspy; epug;Gf.  
H _ M _ _ F _ A _ F M _ H _  
a. FAMHAHF  b. AFHAHAF c. FAHMHAF d. FAMMHHF 
Solution 
 H F M A H F M A H F M A H F  
HFMA (repeated)  
 

66. In a certain code language "25 – 63 – 48 – 54" is coded as "31 – 51 – 66 – 30" 
what will be the code for" "17 – 28 – 36 – 45" in that code language?  
xU ,ufrpa FwpaPl;L Kiwapy; "25 – 63 – 48 – 54" vd;gJ "31 – 51 – 66 – 30", 
vd vOjg;gl;lhy; "17 – 28 – 36 – 45" vd;gJ vt;thW vOjg;gLk;.  
a. 18 – 12 – 30 – 35    b. 23 – 16 – 54 – 21 

c. 30 – 26 – 44 – 22   d. 24 – 16 – 48 – 20  
Solution:  
 25 + 6 = 31 
 63 - 12 = 51 
 48 + 18 = 66 
 54 – 24 = 30 
similarly, for "17 – 28 – 36 – 45"  
 17 + 6 = 23  
 28 – 12 = 16 
 36 + 18 = 54  
 45 – 24 = 21 
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67. If CAR = 11, MAN = 14, then how will you code STAR = ?  

a. 23   b. 34   c. 18   d. 29 

CAR = 11, MAN =  14, vdpy; STAR vd;gjd; FwpaPL?  
a. 23   b. 34   c. 18   d. 29 

solution:  
 CAR = 3 + 1 + 18   = 22/2 = 11;  (normal code) 
 MAN = 13 + 1 + 14   = 28/2 = 14;  
Simlarly for   S   T A R 
       ↓   ↓  ↓ ↓ 
    19 20 1 18   = 19 + 20 + 1 + 18  = 58/2 = 29  
 

68. Find the missing term: 20, 19, 17, ?, 10, 5  
a. 13   b. 14   c. 15   d. 16 
tpLgl;l cWg;igf; fhz;f. 
20, 19, 17, ? , 10, 5  
a. 13   b. 14   c. 15   d. 16 
solution:  
 20 – 1 = 19 
 19 – 2 = 17  
 17 – 3 = 14 
 14 – 4 = 10 
 10 – 5 = 5 
  

69. Find the missing term of the series: 63, 55, 47, ____, 31, 23.  
a. 37   b. 39   c. 36  d. 38  
njhlhpy; tpLgl;l vz;iz fhz;f. 63, 55, 47, ____, 31, 23.  
a. 37   b. 39   c. 36  d. 38  
solution:  
 63 – 8 = 55 
 55 – 8 = 47  
 47 – 8 = 39 
 39 – 8 = 31 
 31 – 8 = 23 
 

70. Find the missing term of the series: 50, 51, 53, 56, 60,....... 
a. 66   b. 65   c. 64   d. 62 
njhlhpy; tpLgl;l vz;iz fhz;f. 50, 51, 53, 56, 60,....... 
a. 66   b. 65   c. 64   d. 62 
solution:  
 50 + 1 = 51 
 51 + 2 = 53 
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 53 + 3 = 56  
 56 + 4 = 60 
 60 + 5 = 65  
 

71. 67, 71, 73, 79, ?  
a. 81     b. 84   c. 85   d. 83 

solution:  
 Prime number series (gfh vz; njhlh;)  
 next prime number of 79 = 83 
 79 f;F mLj;J tUk; gfh vz; = 83 
   

72. Find the next term: 
21 321 4321

, ,
33 444 5555

?  

mLj;J tUk; vz; ahJ? 
21 321 4321

, ,
33 444 5555

 

a. 
45321

66666
  b. 

54321

6666
  c. 

54321

6666
  d. 

54321

66666
 

 
 

73.  Which number replaces the question Mark?  
a. 20   b. 9   c. 1   d. -1 
 

               7 
 
 
 
 
 
Nfs;tpFwp cs;s ,lj;jpy; vd;d tUk;?  
a. 20   b. 9   c. 1   d. -1 
solution:  
 1st diagram  
    7 + 2 = 9 
   7 – 2  = 5 
 2nd diagram 
   10 + 3 = 13 
   10 – 3 = 7 
 similarly, 
   4 + 5 = 9 
   5 – 4 = 1 
       

74. A group of letters are given. 

7      2                     
9      5  

3    10 
13    7 

6      1 
7      5 

4      5 
9      ? 
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A numerical code has been given to each letter. These letters have to be 
unscrambled into a meaningful word find out the code for the word so formed 
from the 4 answers given.  
   
  L I N C P E  
  1 2  3  4 5  6  
vOj;Jfspd; njhFg;G xd;W fPNo nfhLf;fg;gl;Ls;sJ. xt;nthU vOj;Jf;Fk; 
jdpj;jdpNa vz; FwpaPL toq;fg;gl;Ls;sJ. ,j;njhFg;G vOj;Jf;fis ,lk; 
ngah;j;J khw;wpaikj;jhy; nghUs; cs;s thh;j;ijf; fpilf;Fk;. mjd;gb 
Gjpjhff; fz;Lgpbj;j thh;j;ijf;fhd vz; FwpaPl;bidf; fhz;f.  
  L I N C P E  
  1  2 3  4  5 6  
a. 2 3 4 1 5 6  b. 5 6 3 4 2 1 c. 6 1 3 5 2 4  d. 4 2 1 3 5 6  
Solution:  
 P E N C I L  
 5  6  3  4 2 1  
 

75. If a = 00, Z = 25; then what is the code for "division"  
a. 03 09 22 09 18 08 14 13   b. 03 08 22 09 18 08 14 13 
c. 03 08 21 08 18 08 14 13   d. 04 09 22 09 19 09 15 14 
a = 00, Z = 25, vdpy; division vd;gJ FwpaPL?  
a. 03 09 22 09 18 08 14 13   b. 03 08 22 09 18 08 14 13 
c. 03 08 21 08 18 08 14 13   d. 04 09 22 09 19 09 15 14 
 

76. A safety locker in a jewel shop requires a 4 digit unique code. The code has the 
digits form 0 to 9 How many unique codes are possible.  
 
xU eiff;filapy; cs;s ghJfhg;G ngl;lfj;jpw;fhd jpwTNfhy; vz; 4 
,yf;fq;fis nfhz;l jdpj;Jtkhd vz;zhf mikg;gjw;F. xt;nthU 
,lkjpg;gpYk;  0 Kjy; 9 tiuapyhd 10 vz;fis nfhz;L cUthf;f 
Ntz;Lk; vdpy;> xU jdpj;Jtkhdj; jpwTNfhy; vz; mikg;gjw;F vj;jid 
tpjkhd topfs; cs;sJ?  
a. 9999  b. 1000  c. 10000  d. 10001 
  10     ×     10       ×     10         ×   10   = 10000 ways  
    ↓                  ↓                 ↓                ↓ 
first   second  Third  four  
number  number  number  number  
First number (0 to 9) = 10 ways  
2nd number (0 to 9) = 10 ways  
3rd number (0 to 9) = 10 ways  
4th number (0 to 9) = 10 ways  
 10 × 10 × 10 × 10 = 10000 ways  
 

77. Fill in the blanks. 
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1, 6, 15, 28, 45 ________ 91 
a. 57   b. 67  c. 66   d. 69  
Nfhbl;l ,lj;jpy; tUtJ vd;d?  
1, 6, 15, 28, 45 ________ 91 
a. 57   b. 67  c. 66   d. 69  
solution:  
 1,  6,  15,  28,  45  ?  
  
    5     9    13    17      21  
  
         4  4 4 4 
 45 + 21 = 66 
 

78. Find the next term:  
a. 24, 30, 33, 39, 51, 57, 69?  
a. 75   b. 72   c. 81   d. 84  
mLj;J tUk; cWg;G  
a. 24, 30, 33, 39, 51, 57, 69?  
a. 75   b. 72   c. 81   d. 84  
 
24 + 6 = 30     24 = 2 + 4 = 6 
30 + 3 = 33 
33 + 6 = 39 
39 + 12 = 51 
51 + 6 = 57 
57 + 12 = 69  
69 + 15 = 84 
 

79. If "NGCH" stand for "LEAF", then "MPQY" stands for  
a. JMNV  b. KNOW  c. LOPX  d. KOWN  
"NGCH" vd;gJ LEAF I Fwpj;jhy; "MPQY" vd;gJ  
a. JMNV  b. KNOW  c. LOPX  d. KOWN  
Each letter decreased by two  
 

80. Picture perfect quality movie is written as #6B,  #8B, #8V @8Q', then 'regular 
fitness sound health' is written as  
a. #6A @8P  #8O  @5E 
b. @6A #8P  #8O  @5E 
c. @6A @8P  #8O  @5E 
d. @6A @8P  80  @5E 
 "picture perfect quality movie" vd;gJ '#6B #8B #8V @8Q vd vOjg;gl;lhy; 
'regular fitness sound health' vd;gJ vt;thW vOjg;gLk;.  
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solution:  
symbols → No. of vowels in the word (1 - *, 2 - @, 3 - #, 4 - &)  
letter  last letter code – 3  
Number  → Number of letter in the word  
  (If the number of letters is even, number is decreased by1)  
  (If the number of letters is odd, number is increased by 1)  
Picture = No. of vowels = 3 # 
  = Last letter – 3  B 
  = number of letter in the word – 7  
so picture = # B 6      7 – 1 = 6  
same pattern follows  
'regular fitness sound health'  = @ 6A @8P #80  @5E 
  

81. If A = N; B = O; C = P then what is the code for PUNVE  
a. C H A I Q   b. C H A I S c. C H A I R  d. C H A J S  
A = N; B = O; C = P vdpy; PUNVE d; FwpaPL.  
  
 

82. If a = W; b = X, c = Y, d = Z, e = A then what is the code for fvieo  
a. J R E I N   b. J R E A N c. B R E A K d. B R I C K  
 f   v  i  e o  
 ↓  ↓  ↓  ↓ ↓ 
 B R E A K  
 

83. find the missing number  
54  26 46 
10 16 8 
32 21 ? 
a. 51   b. 50  c. 27   d. 35  
tpLgl;l vz;iz fhz;f.  
54  26 46 
10 16 8 
32 21 ? 
a. 51   b. 50  c. 27   d. 35  
solution:  
The third number is each coloumn is the sum of half of each number is that 
same coloumn third number  

 54 27
2
=   10 5

2
=   27 + 5 = 32 

 26 13
2
=   16 8

2
=   13+ 8 = 21 

 46 23
2
=   8 4

2
=    23 + 4 = 27  
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84. select the related number from the given alternatives 125 : 30 :  : 132 : ?  
a. 14  b. 17  c. 18  d. 15  
solution:  
 12 + 22 + 52 = 30  
 12 + 32 + 22 = 14  
  

85. Fill in the blanks f de_fd_g_de_fd_gfd 
a. gefge   b. fgefd  c. dgefe  d. fgege  
Nfhbl;l ,lj;ij epug;Gf.  
a. gefge   b. fgefd  c. dgefe  d. fgege  
solution:  
 fd  egfd  egfd  egfd  
 

86. Next term of the series. 484, 529, 576, 625, ?  
a. 729   b. 784  c. 676   d. 841 
njhlhpy; mLj;J tUtJ vd;d? 
a. 729   b. 784  c. 676   d. 841 
222 = 484;   252 = 625 
232 = 529;  
242 = 576;    262 = 676  
 

87. How many 2 digit numbers contains the number 7?  
a. 10   b. 18  c. 19   d. 20  
7 I Xh; ,yf;fkhf nfhz;l <hpyf;f vz;fs; vj;jid cs;sd.   
a. 10   b. 18  c. 19   d. 20  
solution:  
 = {17, 27, 37, 47, 57, 67,  
     70, 71, 72, 73, 74, 75  
              76, 77, 78, 79, 87, 97} = 18   
 

88. Find the minimum number of straight lines in the following figure? 
a. 12   b. 15   c. 10   d. 8  
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gpd;tUk; glj;jpy; Fiwe;jJ vt;tsT Neh;f;NfhLfs; cs;sd vd;gij fhz;f.  
a. 12   b. 15   c. 10   d. 8  
solution:  
 A     C     E     G       I 
       
     K L 
    M N 
     O P 

  
      B        D     F     H    J 
AB, CD, EF, GH, IJ, KL, MN, OP, AI, BJ = 10 straight line  
 

89. How many triangles in the figure?  
   
 
 
   
 
 
 
a. 10   b. 9   c. 8   d. 7  
glj;jpy; vj;jid Kf;Nfhzq;fs; cs;sd.  
a. 10   b. 9   c. 8   d. 7  
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solution:  
     A 
 
 
      

 
  
               
       B      C      D     E             F                        1   2        3      4 

 
ABC, ACD, ADE, AEF = 4     = 4 + 3 + 2 + 1 
AFD, ABD, ABF   = 3      = 10  
ACE, ACF, ABE   = 3  
      10 
    
 

90. How many stars in the 7th figure?  

 
a. 35   b. 36   c. 30   d. 49  
7tJ glj;jpy; vj;jid el;rj;jpuq;fs; ,Uf;Fk;?.  
a. 35   b. 36   c. 30   d. 49  
 

91. How many tetraamines are in the figure. 

 
a. 8    b. 9   c. 10   d. 4  
xU rJu Xl;by; vj;jid ehw;rJu ,izfs; cs;sd. 
a. 8    b. 9   c. 10   d. 4  
In one tile there are 
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92. What will com next in the following series?  
 

 
 
 
↑ 

               
 
 
              ↓      

↑ 
 
 
               

              ↓ 

 

 

 

 
 

? 

 
gpd;tUk; glj;njhlhpy; mLj;J tUtJ vd;d?  

a.    b.  
    

c.     d.  
Ans D  
 
solution: 
Arrow moves in anti clock wise direction in such away that it doesnot skips 
any corner initially, then it skips one corner, then it skips 2 corners and so on. 
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It also inverts in each stop. The triangle moves along the corner clock wise 
direction. It also rotales in anti clock wise direction each step.  
 

93. Which letter is written on the face opposite to B?  
 

 
a. A   b. B   c. D   d. E  
B – f;F vjph;Gwk; tUk; vOj;J vJ?  
 

 
a. A   b. B   c. D   d. E  
solution: 
rotate    

 
 B opposite E  

94. The question below is to be answered on the basis of the three views of a cube 
given as follows.  

 
Which number opposite to 4  
 4 f;F vjpNu cs;s vz; vJ?  
a. 2   b. 3   c. 6   d. 1  
solution:  
The number opposite to 4 is 2 because 5, 1, 6 and 3 are adjacent face of 4.  
On rolling the dice we obtain three dots at the bottom.  
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95. On rolling the dice we obtain three dots at the bottom.  

 How many dots will be there on the face obtained at the top?  

 
gfilfs; cUl;lg;gLk; NghJ 3 Gs;spfs; mbg;Gwj;jpy; ,Uj;jhy; NkNy 
vj;jid vz;fs; ,Uf;Fk;?  
a. 5   b. 6   c. 2   d. Either 5 or 2  

  
opposite to 5 = 3 
 

96. What will come in the question mark?  

  
a. 14   b. 42  c. 63   d. 126  
Nfs;tpFwp cs;s ,lj;jpy; vd;d tUk;  
a. 14   b. 42  c. 63   d. 126  
Pascal triangle,  
 70 + 56 = 126 
 126 + 126 = 252 
 126 + 84 = 210  
 

97. Two position of the cube are shown below. what will come opposite to the face 
containing "2" ? 
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a. 5   b. 1   c. 3  d. Either option (a) or (b)  
gfilfspd; ,U epiyfs; fPNofhl;lg;gl;Ls;sd. "2' f;F vjph;Gwk; vd;d vz; 
cs;sJ> vd fhz;f.  
a. 5   b. 1   c. 3  d. a my;yJ b  
solution:  
2 f;F vjpNu 6, 4, 3 tu KbahJ. Vndd;why; mit mLj;jLj;j gf;fq;fshf 
mUfpy; ,Ug;gjhy; 2f;F vjpNu 5 my;yJ 1 tuyhk;.  
 

98.  Two position of the same cube are shown below. which number appears on 
the face apposite to the number 4?  

  
a. 2   b. 3   c. 5  
gfilfspd; ,U epiyfs; fPNo fhl;lg;gl;Ls;sd. 4 f;F vjpNu cs;s vz; 
vJ?  
a. 2   b. 3   c. 5  
solution:  
 4 is opposite to 3 
 1 is opposite to 2 
 6 is opposite to 5    

99. Find the odd figure among the following?  

 
a. 1   b. 2   c. 3   d. 4 
gpd;tUk; glq;fspy; nghUe;jhjij fhz;f?  
solution:  
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The Arrow head is pointing towards the closed figure except for figure 4.  
 

100. In a certain code language 'CIRCUS is written as '5' and ALUMINIUM is 
written as '6' what is the code for "SUPER STITION" in that code language?  
a. 9   b. 10   c. 11   d. 12 
xU ,ufrpa FwpaPl;L Kiwapy; "CIRCUS" vd;gJ 5 vdTk;> "ALUMINIUM" 
vd;gJ 6 vdTk; vOjg;gl;lhy; "SUPER STITION" vd;gJ vt;thW vOjg;gLk;?  
a. 9   b. 10   c. 11   d. 12 
solution:  
The code for each word is the total number of unique letters in that word So 
the code for SUPER TITION is 9.  
Circus unique letters (I, R, U, S, C) = 5 
Aluminium Unique letter (A, L, U, M, I, N) = 6 
SUPERSTITION – unique letters (S, U, P, E, R, T, I, O, N) = 9  

 


